Variable code

Variable type

Description

Question in
interview protocol

HH_ID alphanumeric code Unique identifier for the respondent (household) ID
Site integer code (1=Beanana; 2=Morafeno; 3=Fizono; Fokontany where the interview takes place Site
4=Mahalevona)
Sex integer code (0=Woman; 1= Man) Sex of the respondent Sex
Originary integer code (0=No; 1= Yes) Was the respondent born in the village? l.a.l
Years_here non-negative integer (years) If not born in this village, how many years has the respondent lived 1.a.3
in the village?
Reason_for_coming integer code (1=Marriage; Reason for the respondent moving to the current village l.a.4
2=Search for money;
3=Search for land; 4=Exploitation of precious
stones; 5=Came to be healed; 6=Came with
relative)
Age non-negative integer (years) Age of the respondent 1.b
Main_occupation integer code (see codebook) Main occupation of the respondent 1l.c
Function_in_the_village integer code (0=No; 1= Yes; 2=Before; 3= Unclear Does the respondent have any special function in the village? 1.d.1a
answer)
HH_members non-negative integer How many members does the household currently have? le
Working_HH_members non-negative integer How many of the current household members contributes to the 1.f
HH_members_left HH non-negative integer How many members of the household left it already, if any? lgla
HH_members_left_village non-negative integer How many members of the household left the village already, if 1.g.1.b
any?
Contributing_absent_members non-negative integer How many of the absent household members contribute with 1.g.2
labour to the household, if any?
Main_activity_1 integer code (see codebook) What is the first most important economic activity of the 2.a.1
household?
Main_activity_2 integer code (see codebook) What is the second most important economic activity of the 2.a.2
household?
Main_activity_3 integer code (see codebook) What is the third most important economic activity of the 2.a.3
household?
Vanilla_present integer code (0=No; 1= Yes) Does the household practice vanilla cultivation at present time? 2.a.4
Clove_present integer code (0=No; 1= Yes) Does the household practice vanilla cultivation at present time? 2.a.5
Shift_Cult_present integer code (0=No; 1= Yes) Does the household practice shifting cultivation at present time? 2.b.1.a
Shift_Cult_past integer code (0=No; 1= Yes) Did the household practice shifting cultivation in the past? 2.b.1.b
Paddy_present integer code (0=No; 1= Yes) Does the household practice irrigated rice cultivation at present 2.b.2.a
time?
Paddy_past integer code (0=No; 1= Yes) Did the household practice irrigated rice cultivation in the past? 2.b.2.b
Main_rice_type integer code (0=Shifting cultivation; 1= Irrigated What is the main rice cultivation type of the household, in terms of 2.b.3
rice; 2=None; 3=Shifting cultivation and irrigated total annual production?
rice same importance)
Gathering_in_agroforest integer code (0=No; 1=Yes; 2= No agroforest Are the agroforest plots of the household important for collecting 2.c.la

available)

products other than the crops you grown there?




Gathering_in_fallow integer code (0=No; 1=Yes; 2= No fallow available; | Are the fallow plots of the household important for collecting 2.c.lb
3=0nly if we plant something after the rice products other than the rice you grow there?
harvest)
Additional_Income_1 integer code (see codebook) First household income source in addition to any of those indicated 2.d.1a
as main activity (in 2.a.1; 2.a.2; 2.a.3)
Additional_Income_2 integer code (see codebook) Second household income source in addition to cash crops 2.d.1b
Additional_Income_3 integer code (see codebook) Third household income source in addition to any of those indicated | 2.d.1c
as main activity (in 2.a.1; 2.a.2; 2.a.3)
Additional_Income_4 integer code (see codebook) Fourth household income source in addition to any of those 2.d.1d
indicated as main activity (in 2.a.1; 2.a.2; 2.a.3)
Additional_Income_5 integer code (see codebook) Fifth household income source in addition to cash crops 2.d.1e
Uses_hired_labour integer code (see codebook) Does the household employ hired labour? 2.d.2
Household_economic_activities Qualitative response (not included in dataset) Have the household activities changed in the last 20 years (or since 2.ela
the household was formed)? If so, what were the causes and what
are the consequences?
Owned_zebu integer code (0=No; 1=Yes; 2= In the past; 3=Zebu Does the household own zebu? 2.e.lb
bought and sold, but not kept by the household)
Zebu_number non-negative integer How many zebu does the household own at present, if any? 2.e.l.c
Satisfaction_with_land_for_children integer code (0=No; 1=Yes; 2=0Other; 3=Unclear Is the respondent satisfied with the amount of land (including 2.f.1
answer) forest) the household has for leaving to the children?
Reason_no_satisfaction_land_1 integer code (see codebook) First reason for not being satisfied with the amount of land available | 2.f.2a
in the household for the children
Reason_no_satisfaction_land_2 integer code (see codebook) Second reason for not being satisfied with the amount of land 2.f.2b
available in the household for the children
Satisfaction_livelihood_alternatives integer code (0=No; 1=Yes; 2=Mixed) Is the respondent satisfied with the livelihood opportunities and 2,81
alternatives available?
Reason_no_satisfaction_livelihood_alternatives integer code (see codebook) First reason for not being satisfied with the livelihood opportunities 2.g.2a
1 and alternatives available
Reason_no_satisfaction_livelihood_alternatives | integer code (see codebook) Second reason for not being satisfied with the livelihood 2.8.2b
1 opportunities and alternatives available
Significance_of_land integer code (0=No; 1=Yes; 2=Unclear answer) Does the respondent consider that the land the household has has 2.h.1.a
significance besides being the basis for agricultural activities?
Reason_significance_land_1 integer code (see codebook) First reason for significance of land besides basis for agricultural 2.h.2a
activities
Reason_significance_land_2 integer code (see codebook) Second reason for significance of land besides basis for agricultural 2.h.2b
activities
Reason_significance_land_3 integer code (see codebook) Third reason for significance of land besides basis for agricultural 2.h.2c
activities
Sufficiency_of_income integer code (0=No; 1=Yes; 2=Mixed) Does the respondent consider the household has sufficient income 3.a.1
for the expenses it has?
Avoided_expenses_if _needed_1 integer code (see codebook) First expense the respondent avoids in the case it is needed 3.a.2.a
Avoided_expenses_if _needed_2 integer code (see codebook) Second expense the respondent avoids in the case it is needed 3.a.2.b
Avoided_expenses_if_needed_3 integer code (see codebook) Third expense the respondent avoids in the case it is needed 3.a.2.c
Additional_expenses_if possible_1 integer code (see codebook) First additional expense in the case the respondent can afford it 3.a.3.a
Additional_expenses_if possible_2 integer code (see codebook) Second additional expense in the case the respondent can afford it 3.a.3b




Additional_expenses_if_possible_3 integer code (see codebook) Third additional expense in the case the respondent can afford it 3.a.3.c
Additional_expenses_if_possible_4 integer code (see codebook) Fourth additional expense in the case the respondent can afford it 3.a.3.d
Additional_expenses_if_possible_5 integer code (see codebook) Fifth additional expense in the case the respondent can afford it 3.a.3.e
Rice_sufficiency integer code (0=No; 1=Yes) Is the household self-suffient in rice (if produces rice to cover at 3.b.1
least 12 months of household consumption a year=yes)
Months_sufficiency_rice non-negative integer Months a year the household gets to consume its own rice 3.b.2a
Gets_to_buy_rice_for_missing_months integer code (0=No; 1=Yes; 2=Mixed) Can the household afford buying rice for the months it doesn’t 3.b.2.b
produce enough?
Change_in_income_expenses_balance integer code (O=Negative; 1=Positive; 2=Both Did the household’s income-expenses balance change positively or 3.c.1a
negative and positive; 3=No change; 4=Unclear negatively in the last 20 years?
answer)
Reason_positive_change_income_1 integer code (see codebook) First reason for positive change in income-expenses balance 3.c.1b.1a
Reason_positive_change_income_2 integer code (see codebook) Second reason for positive change in income-expenses balance 3.c.1b.1b
Reason_negative_change_income_1 integer code (see codebook) First reason for negative change in income-expenses balance 3.c.1b.2a
Reason_negative_change_income_2 integer code (see codebook) Second reason for negative change in income-expenses balance 3.c.1b.2b
Change_in_rice_sufficiency integer code (0O=Negative; 1=Positive; 2=No Did the household’s rice self-sufficiency situation change positively 3.c.2a
change; 3=Unclear answer) or negatively in the last 20 years?
Reason_positive_change_rice_1 integer code (see codebook) First reason for positive change in household’s rice self-sufficiency 3.c.2b.1
situation
Reason_positive_change_rice_2 integer code (see codebook) Second reason for positive change in household’s rice self- 3.c.2b.2
sufficiency situation
Reason_negative_change_rice_1 integer code (see codebook) First reason for negative change in household’s rice self-sufficiency 3.c.2c.1
situation
Reason_negative_change_rice_2 integer code (see codebook) Second reason for negative change in household’s rice self- 3.c.2c.2
sufficiency situation
Would_stop_rice_cultivation integer code (0=No; 1=Yes; 2=Unclear answer; Does the respondent considers the household would buy the rice it 3.d.1
98=NA: Doesn't cultivate rice) consumes instead of producing it in the case it could afford it?
Reason_stop_rice_cultivation_1 integer code (see codebook) First reason for the household to stop producing the self- 3.d.2
consumption rice and buying it instead
Reason_stop_rice_cultivation_2 integer code (see codebook) Second reason for the household to stop producing the self- 3.d.3
consumption rice and buying it instead
Reason_not_stop_rice_cultivation_1 integer code (see codebook) Reason for the household not stopping producing the self- 3.d.4
consumption rice and buying it instead
Satisfaction_with_quality_food integer code (0=No; 1=Yes; 2=Mixed 3=Unclear Is the quality of the food the household consumes satisfying 3.el
answer) according to the respondent? (Especially regarding meat
consumption)
Satisfaction_with_variety_food integer code (0=No; 1=Yes; 2=Mixed; 3=Unclear Is the variety of the food the household consumes satisfying 3.e.2
answer) according to the respondent?
Significance_of rice integer code (0=No; 1=Yes) Does the respondent consider rice has significance besides 3.f.la
exclusively its nutritional value?
Reason_significance_rice_1 integer code (see codebook) First reason for rice having significance besides exclusively its 3.f.1l.c
nutritional value
Reason_significance_rice_2 integer code (see codebook) Second reason for rice having significance besides exclusively its 3.f.1d

nutritional value




Reason_significance_rice_3 integer code (see codebook) Third reason for rice having significance besides exclusively its 3f.le
nutritional value
Significance_of_zebu integer code (0=No; 1=Yes) Does the respondent consider zebu has significance besides 3.f.2.a
exclusively its nutritional value?
Reason_significance_zebu_1 integer code (see codebook) First reason for zebu having significance besides exclusively its 3.f.2.c
nutritional value
Reason_significance_zebu_2 integer code (see codebook) Second reason for zebu having significance besides exclusively its 3.f.2d
nutritional value
Reason_significance_zebu_3 integer code (see codebook) Third reason for zebu having significance besides exclusively its 3.f.2.e
nutritional value
Satisfaction_with_price_for_cash_crops integer code (0=No; 1=Yes; 2=Mixed; 98=N/A: Is the respondent satisfied with the current price for cash crops? 3.gla
Doesn't cultivate cash crops)
Reason_no_satisfaction_price_1 integer code (see codebook) First reason for not being satisfied with current price for cash crops 3.g.1b
Reason_no_satisfaction_price_2 integer code (see codebook) Second reason for not being satisfied with current price for cash 3.gl.c
crops
Satisfaction_with_marketing_cash_crops integer code (0=No; 1=Yes; 2=Mixed/depends; Is the respondent satisfied with the marketing conditions for cash 3.g.2.a
3=Unclear answer; 98=N/A: Doesn't cultivate cash crops?
crops)
Reason_no_satisfaction_market_1 integer code (see codebook) First reason for not being satisfied with marketing conditions for 3.8.2.b
cash crops
Reason_no_satisfaction_market_2 integer code (see codebook) Second reason for not being satisfied with marketing conditions for 3.g.2.c
cash crops
Change_in_satisfaction_price integer code (0=Negative; 1=Positive; 2=No Did the respondent’s satisfaction with price for cash crops changein | 3.h.1.a
change; 3=Other/mixed; 98=NA: N/A: Doesn't the past 20 years?
cultivate cash crops)
Reason_positive_change_price integer code (1=Increase in price) Reason for positive change in satisfaction with price for cash crops 3.h.1.b
Reason_negative_change_price integer code (1= inflation) Reason for negative change in satisfaction with price for cash crops 3.h.1.c
Collection_of_forest_products integer code (0=No; 1=Yes) Does the household collects products in the forest? 4.a.1
Reason_no_collection_forest_products integer code (see codebook) Reason for not collection products in the forest 4.a.2
Sells_forest_products integer code (0=No; 1=Yes; 98=NA: Doesn’t collect | Does the household sell products from the forest? 4.a3
products in the forest)
Non_material_benefits_from_forests integer code (0=No; 1=Yes) Does the respondent consider forest provides non-material 4.b.1.a
benefits?
Non_material_benefit_forest_1 integer code (see codebook) First non-material benefit from forest 4.b.1.b.1
Non_material_benefit_forest_2 integer code (see codebook) Second non-material benefit from forest 4.b.1.b.2
Non_material_benefit_forest_3 integer code (see codebook) Third non-material benefit from forest 4.b.1.b.3
Non_material_benefit_forest_4 integer code (see codebook) Fourth non-material benefit from forest 4.b.1.b.4
Satisfaction_with_forest_products_access integer code (see codebook) Is the respondent satisfied with the access to forest products? 4.d.1a
Satisfaction_with_forest_cultural_access integer code (see codebook) Is the respondent satisfied with the access to forest for cultural 4.d.1b
aspects?
Reason_no_satisfaction_forest_access integer code (see codebook) Reason for not being satisfied with forest access 4.d.2
Change_in_access_to_forest integer code (O=Less access; 1=More access; 2=No How the respondent perceives access to forest has changed in the 4.e.la
change; 3=Unclear answer) last 20 years?
Reason_less_access_forest_1 integer code (see codebook) First reason for change to less access to forest 4.e.1b
Reason_less_access_forest_2 integer code (see codebook) Second reason for change to less access to forest 4.e.lc




if_negative_change_forest_access_positive_asp | integer code (0=No; 1=Yes; 2=Doesn’t know; If negative change in access to forest, any positive aspect of that 4.e.2
ect 3=Unclear answer) change?
if_positive_change_forest_access_negative_asp | integer code (0=No; 1=Yes; 2=Doesn’t know; If positive change in access to forest, any negative aspect of that 4.e3
ect 3=Unclear answer) change?
Change_in_forest integer code (0O=Negative; 1=Positive; 2=No How the respondent perceive the state of the forest has changed in 4.e.d4a
change; 3= Unclear answer) the last 20 years?
What_change_in_forest_1 integer code (see codebook) First reason for change in the state of the forest 4.e.4.b
What_change_in_forest_2 integer code (see codebook) Second reason for change in the state of the forest 4.ed.c
Sufficient_drinking_water integer code (0=No; 1=Yes; 2=Mixed; 3=Unclear Does the respondent consider the drinking water available is 5.a.l.a
answer) sufficient?
Sufficient_irrigation_water integer code (0=No; 1=Yes; 2= No due to lack of / Does the respondent consider the irrigation water available is 5.a.1.b
difficulty to set up irrigation scheme; 3= In some sufficient?
areas yes, in some areas; 4= Unclear answer; 98=
N/A: No paddy fields)
Satisfaction_quality_water integer code (0=No; 1=Yes; 2=Mixed) Is the respondent satisfied with the drinking water quality? 5.a.2
Change_water_quantity integer code (O=Negative (less water); 1=Positive How does the respondent perceive the quantity of water has 5.a.3a
(more water); 2=No change) changed in the last 20 years?
Change_water_quality integer code (0O=Negative (worse water); 1=Positive | How does the respondent perceive the quality of water has changed | 5.a.3b
(better water); 2=No change; 3=Unclear answer) in the last 20 years?
Change_rainfall integer code (O=Less rainfall; 1=More rainfall; 2=No | How does the respondent perceive the amount of rainfall has 5.a.4a
change; 3=Unclear answer) changed in the last 20 years?
What_does_in_case_of _illness_1 integer code (see codebook) First thing the respondent does in the case any member of the 5.b.1a
household falls sick
What_does_in_case_of illness_2 integer code (see codebook) Second thing the respondent does in the case any member of the 5.b.1b
household falls sick
Satisfaction_with_health_services integer code (0=No; 1=Yes; 2=Mixed; 3=Unclear Is the respondent satisfied with the health services? (access and 5.b.2a
answer) quality)
Reason_no_satisfaction_health_services_1 integer code (see codebook) First reason for not being satisfied with health services 5.b.2b
Reason_no_satisfaction_health_services_2 integer code (see codebook) Second reason for not being satisfied with health services 5.b.2¢c
Change_in_health_services integer code (0O=Negative; 1=Positive; 2=Both How the health services situation has changed on the last 20 years 5.b.3a
negative and positive; 3=No change; 4=Unclear according to the respondent?
answer)
Reason_positive_change_health_services_1 integer code (see codebook) First reason for positive change in health services situation 5.b.3b.1
Reason_positive_change_health_services_2 integer code (see codebook) Second reason for positive change in health services situation 5.b.3b.2
Reason_negative_change_health_services_1 integer code (see codebook) First reason for negative change in health services situation 5.b.3c.1
Reason_negative_change_health_services_2 integer code (see codebook) Second reason for negative change in health services situation 5.b.3c.2
Possibility_of _moving_around integer code (0=No; 1=Yes; 2=Yes, but with Does the respondent considers he/she has the possibilities to move 6.a.1.a
contraints) around as needed?
Reason_no_possibility_moving_1 integer code (see codebook) First reason for not having possibilities of moving around as needed 6.a.1.b
Reason_no_possibility_moving_2 integer code (see codebook) Second reason for not having possibilities of moving around as 6.a.1.c
needed
Reason_no_possibility_moving_3 integer code (see codebook) Third reason for not having possibilities of moving around as needed | 6.a.1.d
Change_in_possibilities_of _moving_around integer code (0O=Negative; 1=Positive; 2=Both How the possibilities of moving around have changed in the last 20 6.c.1a

negative and positive; 3=No change; 4=Unclear
answer)

years according to the respondent?




Reason_change_possibilities_moving_1 integer code (see codebook) First reason for change in possibilities of moving around 6.c.1.b
Reason_change_possibilities_moving_2 integer code (see codebook) Second reason for change in possibilities of moving around 6.c.1.c
Satisfaction_with_housing integer code (0=No; 1=Yes; 2=Mixed; 3=Unclear Is the respondent satisfied with the household’s housing conditions? | 6.d.1
answer)
Reason_no_satisfaction_with_housing_1 integer code (see codebook) First reason for not being satisfied with housing conditions 6.d.2a
Reason_no_satisfaction_with_housing_2 integer code (see codebook) Second reason for not being satisfied with housing conditions 6.d.2b
Satisfaction_with_electricity integer code (0=No; 1=Yes; 2=Unclear answer) Is the respondent satisfied with the household’s access to 6.e.1
electricity?
Reason_no_satisfaction_with_electricity integer code (see codebook) Reason for not being satisfied with access to electricity 6.e.2
Change_in_housing integer code (0O=Negative; 1=Positive; 2=Both How the household’s housing conditions have changed in the last 20 | 6.f.1.a
negative and positive; 3=No change; 4=Unclear years according to the respondent?
answer)
Change_in_electricity integer code (0=Negative; 1=Positive; 2=No How the household’s access to electricity has changed in the last 20 | 6.f.1.b
change) years according to the respondent?
Security_in_the_village integer code (0=No; 1=Yes; 2=Mixed; 3=Unclear Is the respondent satisfied with the security situation in the village? | 6.g.1.a
answer)
If_no_security_in_the_village_reason_1 integer code (see codebook) Reason for not being satisfied with the security situation in the 6.g2.1.b
village
Change_in_security integer code (0O=Negative; 1=Positive; 2=Both How the security situation in the village has changed in the last 20 6.h.1.a
negative and positive; 3=No change; 4=Unclear years according to the respondent?
answer)
Reason_positive_change_security_1 integer code (see codebook) First reason for positive change in security situation in the village 6.h.1.b.1
Reason_positive_change_security_2 integer code (see codebook) Second reason for positive change in security situation in the village 6.h.1.b.2
Reason_negative_change_security_1 integer code (see codebook) First reason for negative change in security situation in the village 6.h.1.c.1
Reason_negative_change_security 2 integer code (see codebook) Second reason for negative change in security situation in the village | 6.h.1.c.2
Cyclones_affecting_life integer code (0=No; 1=Yes; 2=Not much; 3=Yes in Does the respondent perceive that cyclones affect his/her life? 6.i.1.a
cash crop field, not in the house; 4=Not this year;
5=Unclear answer)
Change_in_cyclones_frequency integer code (0O=Negative change (more cyclones); Have the respondent noticed any change in the frequency of 6.i.1.b
1=Positive change (less cyclones); 2=No change; cyclones?
3=Don’t know; 4=Unclear answer)
Change_in_cyclones_strenght integer code (0O=Negative change (stronger Have the respondent noticed any change in the strength of 6.i.1.c
cyclones); 1=Positive change (weaker cyclones); cyclones?
2=No change; 3=Don’t know; 4=Unclear answer)
Years_education non-negative integer (years) Number of schooling years of respondent 7.a.1
Satisfaction_with_own_level_of_education integer code (0O=Negative; 1=Positive; 2=Unclear Is the respondent satisfied with own level of education/schooling 7.b.1
answer) level?
Reason_no_satisfaction_with_own_level_of ed | integer code (see codebook) Reason for not being satisfied with own level of education/schooling | 7.b.2
ucation level
Satisfaction_with_possibilities_of children_edu integer code (see codebook) Is the respondent satisfied with the access to education/schooling 7.b.3.a
cation for the children?
Reason_no_satisfaction_possibilities_children_e | integer code (see codebook) Reason for not being satisfied with access to education/schooling 7.b.3.b
ducation for the children
Satisfaction_with_education_in_the_village integer code (O=Negative; 1=Positive; 2=Mixed; Is the respondent satisfied with the education possibilities in the 7.c.la

3=Unclear answer)

village?




Reason_no_satisfaction_education_in_the_villa | integer code (see codebook) First reason for not being satisfied with the education possibilitiesin | 7.c.1b
ge_ 1 the village
Reason_no_satisfaction_education_in_the_villa | integer code (see codebook) Second reason for not being satisfied with the education possibilities | 7.c.1c
ge 2 in the village
Reason_no_satisfaction_education_in_the_villa integer code (see codebook) Third reason for not being satisfied with the education possibilities 7.c.ld
ge_3 in the village
Satisfaction_about_getting_agricultural_informa | integer code (0=No; 1=Yes; 2=Don’t know; 3=Done | Is the respondent satisfied with the possibilities of getting 7.d.1.a
tion by him/herself; 4=Mixed; 5=Missed agricultural information about agriculture?
training when offered; 6=Not clear reason)
Satisfaction_about_getting_news integer code (0=No; 1=Yes; 2=Don’t know; Is the respondent satisfied with the possibilities of getting general 7.d.1.b
3=Mixed; 4=Not clear reason) information/news?
Change_in_satisfaction_education integer code (0O=Negative; 1=Positive; 2=Both How the education possibilities in the village have changed in the 7.e.la
negative and positive; 3=No change; 4=No clear last 20 years according to the respondent?
answer)
Reason_positive_change_in_education_1 integer code (see codebook) First reason for positive change in education possibilities in the 7.e.1b
village
Reason_positive_change_in_education_2 integer code (see codebook) Second reason for positive change in education possibilities in the 7.e.1c
village
Reason_negative_change_in_education_1 integer code (see codebook) First reason for negative change in education possibilities in the 7.e.1d
village
Reason_negative_change_in_education_2 integer code (see codebook) Second reason for negative change in education possibilities in the 7.e.le
village
Possibility_to_participate_in_decisions_in_villag | integer code (0=No; 1=Yes; 2=Only listens, do not Is the respondent satisfied with the possibilities of participating in 8.a.1
e participate; 3=Other) decision-making processes in the village?
Change_in_possibility_to_participate_in_decisio | integer code (0=Negative; 1=Positive; 2=No How the possibilities of participating in decision-making processes in | 8.b.1
ns change; 3=Unclear answer) the village have changed in the last 20 years according to the
respondent?
Reason_change_in_possibility_to_participate_in | integer code (see codebook) Reason for change in possibilities of participating in decision-making | 8.b.2
_decisions processes
Influence_of PA_creation_in_life integer code (see codebook) Has the PA creation influenced the respondent’s life? 8.c.l
Reason_negative_influence_PA_1 integer code (see codebook) First reason for negative influence of PA creation in the 8.c.2bl
respondent’s life
Reason_negative_influence_PA_2 integer code (see codebook) Second reason for negative influence of PA creation in the 8.c.2b2
respondent’s life
Positive_or_no_influence_but_disadvantages_1 | integer code (see codebook) Disadvantage from PA creation even if no influence in the 8.c.2c
respondent’s life
Reason_positive_influence_PA_1 integer code (see codebook) First reason for positive influence of PA creation in the respondent’s | 8.c.3c
life
Reason_positive_influence_PA_2 integer code (see codebook) Second reason for positive influence of PA creation in the 8.c.3d
respondent’s life
Reason_positive_influence_PA_3 integer code (see codebook) Third reason for positive influence of PA creation in the 8.c.3e
respondent’s life
Reason_positive_influence_PA_4 integer code (see codebook) Fourth reason for positive influence of PA creation in the 8.c.3f

respondent’s life




Support_from_other_projects integer code (0=No; 1=Yes; 2=Maybe, does not Were there any other projects in the village (development, 8.c.4
know; 3=Does not remember; 4=not clear answer; livelihoods, etc.) not related to the PA?
5=0nly after cyclones (humanitarian aid))
Other_projects_1 integer code (see codebook) First project implemented / project implementer in the village not 8.c.5a
related to the PA
Other_projects_2 integer code (see codebook) Second project implemented / project implementer in the village 8.c.5b
not related to the PA
Other_projects_3 integer code (see codebook) Third project implemented / project implementer in the village not 8.c.5¢
related to the PA
Possibility_of_taking_care_of others integer code (0=No; 1=Yes) Is the respondent satisfied with the possibilities of taking care of 9.a.1
other people?
Reason_no_possibility_taking_care_others integer code (0=In difficulties himself/herself) Reason for not being satisfied with the possibilities of taking care of | 9.a.2
other people
Satisfaction_with_social_relations_in_the_villag | integer code (0=No; 1=Yes; 2=Mixed) Is the respondent satisfied with the social relations in the village? 9.b.1
e
Reason_no_satisfaction_social_relations_in_the | integer code (see codebook) Reason for not being satisfied with the social relations in the village 9.b.2
_village
Unequal_treatment_in_the_village integer code (0=No; 1=Yes) Does the respondent considered there is unequal treatment in the 9.c.la
village?
Reason_unequal_treatment_in_the_village_1 integer code (see codebook) First reason for unequal treatment in the village 9.c.1b
Reason_unequal_treatment_in_the_village_2 integer code (see codebook) Second reason for unequal treatment in the village 9.c.1lc
Change_in_social_relations_in_the_village integer code (0O=Negative; 1=Positive; 2=Both How the social relations in the village have changed in the last 20 9.d.1a
negative and positive; 3=No change) years according to the respondent?
Reason_negative_change_social_relations_1 integer code (see codebook) First reason for negative change in social relations in the village 9.d.1b.1
Reason_negative_change_social_relations_2 integer code (see codebook) Second reason for negative change in social relations in the village 9.d.1b.2
Reason_positive_change_social_relations_1 integer code (see codebook) First reason for positive change in social relations in the village 9.d.1c.1
Reason_positive_change_social_relations_2 integer code (see codebook) Second reason for positive change in social relations in the village 9.d.1c.2
What_does_in_free_time_1 integer code (see codebook) First free time activity 9.e.la
What_does_in_free_time_2 integer code (see codebook) Second free time activity 9.e.1b
What_does_in_free_time_3 integer code (see codebook) Third free time activity 9.e.1c
Where_does_spend_free_time_1 integer code (see codebook) First location for spending free time 9.e.2a
Where_does_spend_free_time_2 integer code (see codebook) Second location for spending free time 9.e.2b
Satisfaction_with_free_time integer code (0=No; 1=Yes; 2=Half satisfied) Is the respondent satisfied with the amount of free time available? 9.e.3a
Reason_no_satisfaction_with_free_time integer code (see codebook) Reason for not being satisfied with the amount of free time 9.e.3b
available
Possibility_of _planning_own_life integer code (0=No; 1=Yes; 2=Depends on the Is the respondent satisfied with the possibilities of planning his/her 9.f.1
money available; 3=0ther) own life?
Difficult_aspect_to_get_1 integer code (see list of codes at the bottom of First most difficult aspect to get Difficult_1
codebook)
Difficult_aspect_to_get_2 integer code (see list of codes at the bottom of Second most difficult aspect to get Difficult_2
codebook)
Difficult_aspect_to_get 3 integer code (see list of codes at the bottom of Third most difficult aspect to get Difficult_3
codebook)
Satisfying_aspect_1 integer code (see list of codes at the bottom of First most satisfying aspect Satisfying_1

codebook)




Satisfying_aspect_2

integer code (see list of codes at the bottom of
codebook)

Second most satisfying aspect

Satisfying_2

Satisfying_aspect_3

integer code (see list of codes at the bottom of
codebook)

Third most satisfying aspect

Satisfying_3

98: NA
99: Missing data




